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WFN T T ACPMA-WIO1-A == 41H%
2% SR Fr R VB GEHE #7135, kW 1 B3 fiE /740, OkW 1 970, 000 970, 000
B o 3t =)
WIN h-v I ACPMA-W101-B == 4|
REE P A HE /156, OKW 1% 53 fiE /163, OkW 1 1, 420, 000 1, 420, 000
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EEE ki WHERES9. OkW 55 HE 77 10. OkW 2 126, 000 252, 000
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REE P WFEHES128. OKW  IEZ B HE /131, 5kW 1 353, 000 353, 000
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2SR R MFRHE I3, 6kN IR FHHE )4, 0kW 1 108, 000 108, 000
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L
=

WEN 9 h= T ACPM-W101-2 = PNEECK-4

ECE R BIERE 4. 5kW BBEHES15. OkW 4 123, 000 492, 000
L
=

WEN r-v I ACPM-W101-3  =EPNEECK—4

ZE SRR R MR 4. 5KN  WE FEHEJ)5. 0kW 1 105, 000 105, 000
L
=

WEN 9 h= T ACPM-W101-4 = PNEECK-4

ECE R BIEHE 4. 5kW BREHES15. OkW 1 105, 000 105, 000
L
=

WEN r-v I ACPM-W201-1  SEPNFECK—4

REE P WEEHESILL. 2kW  HE FEHE /) 12, 5kW 3 143, 000 429, 000
L
=

WFN 9 r= T ACPM-W201-2 = PNEECK-4
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L
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22 FIR% M EHE 120, OKW g B fiE /722, 4kW 1 689, 000 689, 000
ENHECR R (Y il
NV ACP-W401-2 =N
REE P BEEHES120. OKW 12 FEHE 1722, 4kW 1 689, 000 689, 000
EPHIZCR R4 A
Noh=v ACP-WA01-3 =% N4k 3k
22 AR FIR% M GEHE 120, OKW g B iE /722, 4kW 1 657, 000 657, 000
ENHECR  [FIFFAY il
NV ACP-W401-4 =N
REE P BEEHES120. OKW 12 FEHE 1722, 4kW 1 657, 000 657, 000
EPHIZCR  [RIFY A A
Noh=v ACP-WP201 == NAF RS
ECE R HEERE 5. OKW  BEFEHE /15, 6kW 1 300, 000 300, 000
ZE P CFRY () A
NV ACP-WB101 == NAM R L
REE P WEERESI12. 5kW 12 FEHE /) 14. OkW 1 438, 000 438, 000
E N IZ CFRV () il
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RO A HI
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c B DA T
ES= LR T
Lo 0 (4 1% 200mmFE B 150mm
I hEc L B 2 22, 600 45, 200
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RNz EVF-W201
a7 KIFESWIE 250m3/h 1 224, 000 224, 000
L
=
B Hrazy b EVF-W301
fiiesi7 KAV 250m3/h 1 224, 000 224, 000
L
=
Az EVF-W401
a7 KIFESWIE 250m3/h 1 224, 000 224, 000
L
=
HER A FS-WB104
P KW No.1 3/4 800m3/h 1 135, 000 135, 000
L
=
WER AT FS-W101
% RV K{BK No.1 1/2 600m3/h 1 132, 000 132, 000
L
=
HER A FS-W102
%R KW No.1 1/2 600m3/h 1 132, 000 132, 000
L
=
WER AT FS-W103
% RV K{BK No.l 3/4 180m3/h 1 123, 000 123, 000
L
=
HER A FS-W301
P KW No.1 3/4 1200m3/h 1 149, 000 149, 000
L
=
WER AT FS-W302
% RV K{BK No.l 3/4 3000m3/h 1 204, 000 204, 000
L
=
HER A FS-W401
P KW No.1 3/4 3000m3/h 1 204, 000 204, 000
L
=
WER AT FE-WB103
% RV K{BK No.l 1/4 2000m3/h 1 160, 000 160, 000
L
=
HER A FE-WB104
P KW No.1 1/2 800m3/h 1 129, 000 129, 000
L
=
WER AT FE-W101
% RV KpK No.l 1/4 100m3/h 1 101, 000 101, 000
L
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WER 9] FE-W104
% VR KpK No.l 1/4 200m3/h 1 107, 000 107, 000
L
=
HER 9T FE-W201
P KW No.1 1/2 900m3/h 1 132, 000 132, 000
L
=
WER AT FE-W202
% VR K No. 2 2100m3/h 1 160, 000 160, 000
L
=
HER A FE-W203
%R K No.l 1/2 1700m3/h 1 146, 000 146, 000
L
=
WER AT FE-W301
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L
=
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L
=
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L
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R KW No.1 3/4 1700m3/h 2 146, 000 292, 000
L
=
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% VR K{BK No.l 3/4 3000m3/h 1 204, 000 204, 000
L
=
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L
=
PEEBE T GA) | FS-WB101
T No.2 5000m3/h 1 329, 000 329, 000
L
=
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PR No.2 4500m3/h 1 306, 000 306, 000
L
=
PEEBE T WGA) | FE-WB101
T No.2 5000m3/h 1 329, 000 329, 000
L
=
R (R %5A)  |FE-WB102
PR No.2 4500m3/h 2 306, 000 612, 000
L
=
PEEFE T WGA) | FE-W303
T No.2 3000m3/h 1 276, 000 276, 000
L
(=)
i N =
ZeFH L A E BINER 20
W= R i B 25 i
4 i 1 S ¥ it HANT ol & HH fii
[ERITEER S 3 EEN AT AN
IAY=b Huf 3 22, 600 67, 800
&
BERRECAR AL L+ | EM-CEE2" —5C
Hufk 6 2, 740 16, 440
APt
s
5, 787, 240

R 02 L O R 0 e R




ZeFH L A E BINER 21
g = PR A X7 ki
4 i 1 S *% it HANT ol & HH fii
<o Bk F>
POV D BAETE
6 15, 800 94, 800
m
%R AT No.2 BLF
7o b kT 21 17, 200 361, 200
A
%A FWGATE No2 LA
Te b Bk 6 29, 900 179, 400
A
=N =PRI A | (VHS,VS.VH. V) 0.04nf LA
WAL - FEHS 10 10, 800 108, 000
&
2= = PBIR O | (VES.VS.VH, V) 0. 04nf LT
s L - FEEUS 1 12, 400 12, 400
18
it
755, 800
ZeFH L A E BINER 22
Ry Wk X b AT U T —
4 i 1 S ¥ it HANT ol & HH fii
EZEESD HUGA - PRSURL
st Lo EIRA 45 8,670 390, 150
&
kB ABCK A 107!
V44—t 46 10, 400 478, 400
(B — 21K ETr) ZN
ATV T—
Kk E /KR 1 5 91, 800 459, 000
w
Es
1, 327, 550

R 02 L O R 0 e R




ZeFH L A E BINER 23
g = #a K Bl
4 i 1 S *% it HANT ol & HH fii
FeKE /7 azy ) PCW-101
(EAKR#E) 40A X 350L/min X 50m 3. TkWX 2 1 1, 280, 000 1, 280, 000
Bh4RAR 1 3 B
faKE V7 azyb PCW-102
CHE FH K R ) 50A X 600L/min X 50m 5. 5kW X 2 1 1, 940, 000 1, 940, 000
WA=y b, 7=hFp, BiHRGE A 4k #*
AR - nUEs Btk - (T
ZEZAE: L 65A 2 19, 400 38, 800
(SGP-VA) 2kf& m
Hak - HEE nUHES B - fE T
FA=v)" B 80A 8 22, 300 178, 400
(SGP-VA) & m
AR - 770 B L E R
ZEZAE: L 100A 1 45, 200 45, 200
(SGP-VA) 2f& m
5 Ak T ik M 654
2 18, 700 37, 400
18
9 itk = AhkaT M 80A
3 22, 000 66, 000
&
5 i Ak T Arhka” M 100A
1 27, 100 27, 100
18
A=) N B774F (10K (92h-)  65A
2 32, 200 64, 400
&
FA=v) N B7749R 10K (J2h-)  80A
2 37, 600 75, 200
18
[EST I Y
Fa ke PRIE 77T A=l
PR EE, B, A 7V T2 0 2 3, 160 6, 320
65A m
AR R I IAY-W
BEMREE, TR, B TV TAY A 4 3, 480 13,920
80A m
Fa ks PRIE 77T A=l
PR EE, B, A 7V TR0 1 4, 670 4, 670
100A m
s
3, 777, 410
ZeFH L A E BINER 24
W= R L &y 7) 5y
4 i 1 S ¥ it HANT ol & HH fii
< HiT 1B >
EM-CE5.5° -4C | HWAhL - FEEAF
10 8, 830 88, 300
DA
EM-CE5.5" -4C  |[HSh L - FHU
2 8, 830 17, 660
HI
<1fE>
EM-CE5.5" -4C  [HSh L - FHU
32 8, 830 282, 560
HI
<oWE>
EM-CE5.5" -4C  [HSh L - FHU
26 8, 830 229, 580
HI
600VA J=xFLuifaf%k 2. 0omm— 3C t yb + K
AR ) 2L y-2 33 740 24, 420
r=7" W F-J% EM-EEF m
< 3>
EM-CE5. 5" -4C  |Hu4h L - HHUAE
38 8, 830 335, 540
DA
600VH JxfLvifiigk 2. Omm— 3C t°yh « KA
THRER ) 2L yy-2 34 740 25, 160
r=7" W3 EM-EEF m
<ApE>
EM-CE5.5" -4C  [HSh L - FHU
45 8, 830 397, 350
) HI
1, 400, 570

R 02 L O R 0 e R




H N =
ZeFH L A E BINER 25
g = T Bk
4 i 1 S *% it HANT ol & HH fii
EP% D KIF wy )y REW 5 AR
#94. 4% 2. 5m 1 126, 000 126, 000
. AT
126, 000
= 7 =
ZeFH L A E BINER 26
W= T RE
4 i 1 S ¥ it HANT ol & HH fii
<1FE>
RIEryr9-MERER | LGS T Hi+ T HE U GB-Rt=12. 53
T 1=12 #91.2X 1. 6m 1 40, 900 40, 900
Mt
Ky - HEW | LGS T Hi+ T i 0 GB-Rt=12. 53t
T =12 #91.5X 1. 6m 4 40, 900 163, 600
AT
RIEryr9-MERER | LGS T Hi+ T HE V GB-Rt=12. 53
T 1=12 #91.5% 1. 8m 1 40, 900 40, 900
Mt
FIACHEE - = 5 [LGS T M3k
-} 1=9.5 911X 1. 5m 1 28, 000 28, 000
AT
E T TIPSRl H #1450 X 450
3 15, 400 46, 200
Mt
<2WE>
RIFryI9-MERER | LGS T Hi+ T ik GB-Rt=12. 53k
T t=12 #92.7X2.8m 1 47, 600 47, 600
Mt
Ky - HEW | LGS T Hi+ T i  GB-Rt=12. 53t
T =12 92X 1. 7Tm 9 40, 900 368, 100
AT
RIFryr9-MERER | LGS T Hi+ T HE  GB-Rt=12. 53
Tt t=12 FETF1 #99. onf 1 47, 600 47, 600
Mt
Ky - HEW | LGS T Hi+ T i 0 GB-Rt=12. 53t
T =12 EEF1 917, 6nf 1 59, 100 59, 100
AT
RIEryr9-MERER | LGS T Hi+ T HE U GB-Rt=12. 53k
Hhit=12 ZHIERT 494 9nf 1 44, 200 44, 200
Mt
Ky - HEW | LGS T Hi+ T i  GB-Rt=12. 53t
Hht=12 BrEAT 912, 3nd 1 51, 800 51, 800
AT
RIFryr9-MERER | LGS T Hi+ T HE U GB-Rt=12. 53
Tt t=12 K= #3nf 1 40, 900 40, 900
Mt
Ky - HEW | LGS T Hi+ T i 0 GB-Rt=12. 53t
=12 #94.4X 2. 5m 1 51, 800 51, 800
AT

R 02 L O R 0 e R

i




ZeFH L A E BINER 27
W= M T N %E
4 i 1 S *% it HANT ol HH fii
FIHEREE > = LGS FH I
5K -} t=9.5 %91.5X 1. 6m 1 28, 000 28, 000
LN
RIFARPREBER | LGS T itk
b #92.5X 3. 4m 2 297, 000 594, 000
AT
KIFmimn TR NS SE B 11450 X 450
22 15, 400 338, 800
LN
KM A TIPSR H 11600 X 600
2 23, 100 46, 200
AT
KIFFHBH O A58 197 1, 000 X 700mm s £
13 8, 560 111, 280
LN
KA T HUB 0 #5R | 19 300 X 300mm AR
1 3,020 3,020
AT
KIFTHBH O A58 |19/ 250 X 250mmF2 &
4 2,520 10, 080
LN
< 3>
K Ity y-mLBEVL LGS T M1+ T HE 0 GB-Rt=12. 53k
=12 #92.7X2.8m 1 47, 600 47, 600
LN
RIFryr)-MEBER | LGS FHi+ T A GB-Rt=12. 54&
Tt t=12 92X 1. Tm 19 40, 900 777, 100
AT
K Ity s y-mLBEVL LGS T M1+ T HE 0 GB-Rt=12. 53k
Hht=12 R 98, 3m 1 . 47, 600 47, 600
R,
RIEryr9-MERER | LGS T Hi+ T HE U GB-Rt=12. 53
Tt t=12 JBEFL 931 3m 1 197, 000 197, 000
AT
K Ity y-mLBEVL LGS T M1+ T HE 0 GB-Rt=12. 53k
Hht=12 BrMEar #94. Ik 1 . 44, 200 44, 200
R,
RIEryr9-MERER | LGS T Hi+ T HE U GB-Rt=12. 53k
Hhit=12 BrERT 493, 2nd 1 40, 900 40, 900
AT
K Ity s y-mLpEVL LGS T M1+ T HE 0 GB-Rt=12. 53k
TR t=12 3040 K98, 5t 1 47, 600 47, 600
DAL
ZeFH L A E BINER 28
W — AT AES
4 i 1 S ¥ it HANT ol HH fii
KIFny s y-ALBEVE [LGS T i+ T HE D GB-Rt=12. 53&
=12 #91.6X2m 2 40, 900 81, 800
LN
RHALPEE - Z 5 LGS F HdL
H=0"1=9.5 #91.4X2.5m 1 28, 000 28, 000
Nzl
KIFmimn TR PSSR B 11450 X 450
30 15, 400 462, 000
LN
KA THBE 05 19 1, 000 X 700mm i [
22 8, 560 188, 320
Nzl
KIETHBH O A58 | 1972 300 X 300mmF2 &
1 3,020 3,020
LN
KA T HUBE 0 R 19 250 X 250mm AR
3 2,520 7, 560
Nzl
< 4>
RIEryr9-ERER | LGS T Hi+ T HE U GB-Rt=12. 53
R =12 #92.6%2.9m 1 47, 600 47, 600
Nzl
K Ity y-mLpEVL LGS T Hi+ T HE 0 GB-Rt=12. 53k
=12 92X 1. Tm 8 40, 900 327, 200
LN
RIFryr9-MERER | LGS T Hi+ T HE  GB-Rt=12. 53
Tt t=12 JBEF L 99, 3m 1 47, 600 47, 600
Nzl
K Ity y-mLBEVL | LGS T M1+ T HE 0 GB-Rt=12. 53k
Hht=12 R 21 1 . 137, 000 137, 000
R,
RIEryro-MERER | LGS T Hi+ T HE U GB-Rt=12. 53
Hhit=12 BrERT A7, 3nd 1 47, 600 47, 600
Nzl
K Ity y-mLpEVL LGS T M1+ T HE 0 GB-Rt=12. 53k
=12 HCEDXHEHERR  A912. 8nd 1 . 51, 800 51, 800
R,
RHALHE? V- LGS T Hi 4k
5 HH =} 1=9.5 1. 7X2m 1 28, 000 28, 000
Nzl
RIFmimn TR PSR 3E B 11450 X 450
15 15, 400 231, 000
DAL

R 02 L O R 0 e R

i




i N =
ZeFH L A E BINER 29
W= T S
4 i 1 S *% s HANT ol & HH fii
KIFsRA TINRL AR RRRR N D7)
450X 450 10 35, 000 350, 000
;N
KIFHBA OISR | 1972 1, 000 X 700mm i &
12 8, 560 102, 720
AT
KIF T HiBH AR | 1972 300 X 300mm 2 £
1 3,020 3,020
DFI
KA T HUB 0 R 19 150 X 150mm AR
1 1,510 1,510
AT
e ey — i
1 1, 260, 000
=
EEEFI hafey — o Eie
1 1, 067, 500
=X
s
7,837, 330
i N =
ZeFH L A E BINER 30
W= fitkTH 225 N E A
4 i 1 S ¥ s HANT ol & HH fii
< B>
WIN h-v I ACPK-W101-A  =E4h Bk
RCE P U FEHE 7135, BKW, 5 2l 3t 1 52, 500 52, 500
KEETE  #E EEA L2 =)
WEN r= T ACPK-W101-B == 4
RS p I FEHE 7156, OkW, 5 SR St 1 72, 600 72, 600
KFEEE WE  EHEA LRV a
WIN o h-v I ACPK-W102-A  =E4hp&
RCE Pt UG HE 7156. OW, % 20l 3t 1 72, 600 72, 600
KEETE  #E  EEA L2 =)
WEN I T ACPK-W102-B == 4
ECE N p HFEHE 7156, OkW, 5 Bk S 1 72, 600 72, 600
KFEEE E  EEA LRV a
WIN 9 h-v I ACPM-W101 =4
ECE P W HEJ145. 0kW 1 58, 700 58, 700
(6 B L =)
WFN yh= T ACPM-W201 =24} 4%
22 SRR 3 A HE 7156. OkW 1 72, 600 72, 600
Wx A L2 a
WIN 9 h-v I ACPM-W202 =41
ECE P W HEJ145. 0kW 1 58, 700 58, 700
(6 B L =)
WEN r= T ACPM-W301-A == 4
22 SRR A HE 7145, OkW 1 58, 700 58, 700
Wx A L2 a
WIN h-v I ACPM-W301-B = 4h Bk
ECE P W HEJ145. 0kW 1 58, 700 58, 700
(6 B L =)
WFN yh= T ACPM-W401 =241 %
22 SRR WA HE )22, AkW 1 33, 800 33, 800
Wx A L2 a
WIN h-v I ACPM-W402 =4 %
ECE P W HE 1135, 5kW 1 52, 500 52, 500
(6 B L =)
WFN yh= T ACPM-W403 =41 %
22 SRR A HE )28, OkW 1 37, 500 37, 500
Wx A L2 a
WIN h-v I ACPM-W404 =4 %
ECE P W HE 1135, 5kW 1 52, 500 52, 500
(6 B LA =)
WFN yh= T ACPM-W405 == 41 %
22 SRR A HE 7135, BkW 1 52, 500 52, 500
ik A L2 =

R 02 L O R 0 e R




ZE T8l E BINER

g = itk TH 2255 N A

4 i 1 S *% it HANT ol & HH fii
FN yh=y T ACPM-W406 =24} %
RS pa %5 hE 1128 0kW 1 37, 500 37, 500
[ES A LA =)
WIN h-v I ACPK-W101-2  SEPNFECK—4
ECE P W EHE 15, 6kW 2 5, 240 10, 480
(6 FEA LA =)
UWEN h=y ACPK-W101-3 = PNEECK-4
ECE R WIEHENT. 1kW 2 5, 240 10, 480
[ES B LA =)
WIN h-v I ACPK-W101-4  SEPNHECK—4
ECE P WHEEENT. kW 3 5, 240 15, 720
(6 FEA L =)
WEN v h=y ACPK-W101-5 = PNEECK-4
22 SRR WIEHES9. OkW 2 8, 020 16, 040
[ES A LA =)
WIN 9 h-v I ACPK-W101-6  ZEPNFECK—4
ECE P W EHE 15, 6kW 5 5, 240 26, 200
(6 HEEA L =)
WEN r= T ACPK-W102-1  ZEPIH&CID
22 SRR ® 5 hiE 1128 0kW 1 13, 500 13, 500
[ES A LA =)
WIN h-v I ACPK-W102-2  ZEPNFECK-2
ECE P WEHE 2. 8kW 2 4, 060 8, 120
(6 FEA LA =)
WEN o h=y ACPK-W102-3 = PNEECK-2
ECE R WIEHE 2. 8kW 4 3,930 15, 720
[ES B LA =)
WIN 9 h-v I ACPK-W102-4  SEPNFECK-2
ECE P WEHE 2. 8kW 8 4, 060 32, 480
(6 HEA L =)
UWEN o h=y ACPK-W102-5 = PNEECK-2
22 SRR WIEHE 2. 2kW 2 4,020 8, 040
[ ES A LA =)
WIN 9 h-v I ACPK-W102-6  ZEPNFECK-2
ECE P WEHE 2. 8kW 2 4, 060 8, 120
(6 FEA LA =)
UWEN h=y ACPK-W102-7 = PNEECK-2
22 SRR WIEHE 2. 8kW 2 4, 060 8, 120
[ES A LA =)
WIN 9 h-v I ACPK-W102-8  SEPNHECK-2
ECE P W EHE 4. 5kW 1 5, 140 5, 140
(6 HBEA L =)
WEN v h=y ACPK-W102-9 = PNEECK-2
22 SRR WIEHE 2. 8kW 6 4, 060 24, 360
[ ES EEH LW =)
i N =
ZeFH L A E BINER
W= fitkTH 225 N E A

4 i 1 S ¥ it HANT ol & HH fii
FN T ACPK-W102-10 == NFECK-2
22 SRR WIEHE 3. 6kW 1 5, 050 5, 050
[ES A LA =)
WFN 9=y I ACPK-W102-11 2= B CK-2
ECE P WEHE 3. 6kW 1 5, 050 5, 050
(6 HEA L =)
UWEN o h=y ACPK-W102-12 = NHECK-2
22 SRR WIEHES)3. 6kW 1 5, 050 5, 050
[ES B LA =)
WIN o h-v I ACPM-W101-1 ZEPNEECK—4
ECE P W EHE 4. 5kW 4 5, 140 20, 560
(6 FEA LA =)
WEN o h=y ACPM-W101-2 = PNEECK-4
22 SRR WIEHE 4. 5kW 4 5, 140 20, 560
[ES A LA =)
WIN 9 h-v I ACPM-W101-3  SEPNFECK—4
ECE P W EHE 4. 5kW 1 5, 140 5, 140
(6 FEA L =)
WEN v h=y ACPM-W101-4 = PNEECK-4
22 SRR WIEHE 4. 5kW 1 5, 140 5, 140
[ES A LA =)
WIN 9 h-v I ACPM-W201-1  =EPNFECK—4
ECE P WHEHESI1L. 2kW 3 8, 020 24, 060
(6 FEA LA =)
WEN v h=y ACPM-W201-2 = PNEECK-4
22 SRR WIEHESILL. 2kW 2 8, 020 16, 040
[ES A LA =)
WIN h-v I ACPM-W202-1 PN FECK—4
ECE P WEHE 3. 6kW 4 5, 050 20, 200
(6 HEEA L =)
WEN o h=y ACPM-W202-2 = PNEECK-2
22 SRR WIEHE 3. 6kW 2 5, 050 10, 100
[ES A LA =)
WIN h-v I ACPM-W202-3 S PNFECK-2
ECE P W EHE 4. 5kW 2 5, 140 10, 280
(6 HEA L =)
WEN v h=y ACPM-W202-4 = PNEECK-2
22 SRR WIEHE 2. 8kW 2 4, 060 8, 120
[ES A LA =)
WIN h-v I ACPM-W202-5 SN FECK-2
ECE P WEHE 3. 6kW 2 5, 050 10, 100
(6 HEA L =)
UWEN o h=y ACPM-W301-1 = PNEECK-4
22 SRR WIEHESILL. 2kW 2 8, 020 16, 040
L ES EEH LW =)

R 02 L O R 0 e R



= < =
ZeFH L A E BINER 33
W= fits T 2255 N A
4 i 1 S *% s HANT il & HH fii
UFN T T ACPM-W301-2 = PNEECK-4
RS pa WIEHESILL. 2kW 2 8, 020 16, 040
[ES A LA =)
WIN h-v I ACPM-W301-3  =EPNFECK—4
ECE P WEHE 13, 6kW 4 5, 050 20, 200
(6 FEA LA =)
UWEN h=y ACPM-W301-4 = PNEECK-4
ECE R WIEHENT. 1kW 4 5, 240 20, 960
[ES B LA =)
WIN h-v I ACPM-W401-1  =EPNFECK-2
ECE P W EHE 15, 6kW 1 5, 240 5, 240
(6 FEA L =)
WEN v h=y ACPM-W401-2 = PNEECK-2
22 SRR WIEHE 4. 5kW 2 5, 140 10, 280
[ES A LA =)
WIN 9 h-v I ACPM-W401-3 SN FECK—4
ECE P W EHE 15, 6kW 1 5, 240 5, 240
(6 HEEA L =)
WEN v h=y ACPM-W402-1 = PNEECK-4
22 SRR WIEHES9. OkW 4 8, 020 32, 080
[ES A LA =)
WIN h-v I ACPM-W403-1 PN FECK—4
ECE P WHEHENT. kW 4 5, 240 20, 960
(6 FEA LA =)
WEN o h=y ACPM-W404-1 = PNEECK-4
ECE R WIEHES9. OkW 4 8, 020 32, 080
[ES B LA =)
WIN 9 h-v I ACPM-W405-1  =EPNFECK—4
ECE P W EHE 18, OkW 4 6, 230 24, 920
(6 HEA L =)
UWEN o h=y ACPM-W406-1 = PNEECK-4
22 SRR WIEHENT. 1kW 4 5, 240 20, 960
[ ES A LA =)
NV ACPG-W201 == NAM R L
ECE P B 128, 0kW SN ECIO0 1 55, 500 55, 500
(6 HEEA LA A
Noh=v ACP-W301 =ENMEIE
22 SRR BEHES125. 0k S PRI CK—4 1 49, 800 49, 800
Wx ARy FEEA L2 il
Noh-v ACP-W401-1 =N
ECE P BEHE 1120, OkW S PNEEIE R 1 46, 200 46, 200
(6 [y PR L2 uy A
Noh=v ACP-W401-2 =N IE
22 SRR BIEHES120. OkW  EPNFEIE R 1 46, 200 46, 200
Wk FIREYAy  FEEA L2 il
= N =
ZeFH L A E BINER 34
P — s Tg 28 SR AN A
4 i 1 S ¥ s HANT il & HH fii
N oyh=v T ACP-W401-3  SE NI
22 SRR BIEHES120. OkW  EPNFEIE R 1 46, 200 46, 200
Wx ARy FEER L2 il
NV ACP-W401-4 =N
ECE P BFEHE 1120, OkW S PNEEIE R 1 46, 200 46, 200
(e [y PR L 722 vy A
Noh=v ACP-WP201 == /b RE S
22 SRR WRHE 115, OkW S PNEETZ AFRY () 1 9, 500 9, 500
[ ES A LA A
Sy Ry he=7 47 1428, 10
[ES B LA 2 3, 760 7,520
L
=
[ERITEER 74Y=1
[ S 42 510 21, 420
L
=
T AURC AR R R
JEL S AR (G22) FEA L2V
[ S 204 510 104, 040
m
JEL B A (628)  FFfE L 720
(€8 15 670 10, 050
m
JEL S AR (G36)  FEA L7220
[ S 2 790 1, 580
m
7OV y IAR 200X 200X 100
A LA 2 1, 580 3, 160
18
ZSVES EX 200 X 200 X 200
BER L 1 1, 900 1, 900
18
EM-CEEf—7" I EM-CEE 1.25° —3C
[ES P L0 65 100 6, 500
m
EM-CEE-Sy—7" v |EM-CEE-S 1.25° -2C
[ S BER L 571 95 54, 245
m
<> BEEB I Y — > /22 S Rk i
BEMTICE T
2 ACPK-W101-B, W102-A, W102-B
ACPM-W201, W301-A, W301-B 6 50, 500 303, 000
L
[=}

R 02 L O R 0 e R

i




i N =
ST A ERINER 35
g = itk TH 2255 N A
4 i 1 S %% s HANT il & HH fii
[ B
ACPK-W101-A, W101-B, W102-A 5 50, 500 252, 500
W102-B, ACPG-W201 &
fif 7 ACPK-W101-A, ACPG-W201
2 40, 400 80, 800
=)
R ACPM-W101, W202
2 30, 300 60, 600
=)
et A ACPM-W401, W402, W403, W404, W405, W4
06 9 20, 200 181, 800
ACP-W301, W401-1, W401-2 ‘
R EC
ACPK-W102-01, ACPG-W201 2 10, 100 20, 200
L
=
fif 7 ACP-W401-3, W401-4
2 8, 540 17, 080
=)
<TnyER AL S # >
Ty [ELAL Sy ACPK-W101-A
W FEhE 1135, BkW, 2 B 3t 1 122, 000 122, 000
L
=
Ty [ELAL Sy ACPK-W101-B, W102-A, W102-B
A HE 1156, 0kW, 25 2kl 3 137, 000 411, 000
L
=
TuyEILALSy ACPM-W101, W202, W301-A, W301-B
W HEJ145. 0kW 4 101, 000 404, 000
L
=
Ty [ELAL Sy ACPM-W201
% A HE 1156. 0kW 1 101, 000 101, 000
L
=
Ty ELAL Sy ACPM-W401
W HE /122, 4kW 1 63, 900 63, 900
FEA LA =)
Ty [ELAL Sy ACPM-W402, W404, W405
A HE 1135, BkW 3 86, 400 259, 200
L
=
Tuy LAy ACPN-W403, W406
5 TE /128. OkW 2 63, 900 127, 800
L
=
Ty [ELAL Sy ACPG-W201
B EHE 1128, 0kW, 2 2k 1 99, 900 99, 900
L
[=}
i N =
ZeFH L A E BINER 36
W= fitkTH 2255 N A
4 i 1 S %% s HANT il & HH fii
Ty [ELAL Sy ACP-W301
R HES125. 0kW 1 63, 900 63, 900
L
=
TuyEILALSy ACP-W401-1, W401-2, W401-3, W401-4
5 HE 1120 OkW 4 59, 400 237, 600
L
=
Ty [ELAL Sy ACP-WP201
A RESI5. OkW 1 31, 500 31, 500
L
=
Ty [ELAL Sy DH-101
2 27, 900 55, 800
=)
<HU k>
RHBY IME ISR 0. 5mn FHEEH L 22
4 1, 920 7, 680
nt
RHBE IMREIR [ ny)9-he)" FA7-I
S B, T, A 4 1, 600 6, 400
TV TAI A ARIRIE25 B LAy ni
FOMVATZDHMT  HER L
(e 23 2, 960 68, 080
m
Fryn'=(&JEA) 0. 8mm (1201~ 1500mm)
LSS PR LA 13 2, 180 28, 340
m
HENIEYBE oy)y-ve ) FA0-0 477 54 Fyn =
FRIRIES0 FEEEA L7z 13 2,630 34, 190
nt
<HeiE >
Pk - BT BN 307 -
b v 120 630 75, 600
s m
Pek - g JEAMRZE - WEIR 30A —
AL v 9 650 5, 850
[ €S m
Pk - WL JRAMRZE - W 50A -
Hbe v 15 1, 060 15, 900
s m
Pek - g JEAMRZE - WEIE THA —
e v 23 1, 570 36, 110
[ €S m

R 02 L O R 0 e R




ZeFR T HIE BINER
g = itk TH PN % i
4 i 1 S % i il HH
PEoK - WP [ RN — % 50A
WA=y ) R B L 2 1, 570 3, 140
Wk
R - PR 6. 45ME( 1/4B) -
(€S 82 310 25, 420
W - WeERE | 9.54M% ( 3/8B) -
[ S 71 460 32, 660
W PR | 12. TAME( 1/2B) —
(€8 98 590 57, 820
W - WA 15, 94M% ( 5/8B) -
[ S 238 730 173, 740
W - PR 19, 1AM ( 3/4B) —
(€S 32 860 27, 520
W - WESE 25450 (1 B) -
[ S 183 1, 150 210, 450
W - PR 28,6502 (1 1/8B) —
(€8 5 1, 290 6, 450
W - WeRE (31 84ME (1 1/4B) -
[ S 163 1, 450 236, 350
W - PR 38, 1M (1 1/2B) —
(€8 208 1, 690 351, 520
W - WA [44. 550 (1 3/4B) -
i 7 1,930 13,510
KK A=) A CEES BNk 20A
SR (SGP-VA) A L2 9 910 8, 190
(S
faK M=) [ UHES
% (SGP-VA) JRAMRZE W 20A 33 820 217, 060
[ ES A LA
ARETEFE B
PEAKRE RIRIE |77 7200
KHAWN, N AT V47N TRIET TSR 120 580 69, 600
324 FEA LAV
ZeFR T HIE BINER
W= fitkTH PN % i
4 i 1 S % i il HH
PEAKR BRIRIE |77 72—
KHAWN, N AT V47N TRIET TSR 2 680 1, 360
50A FEMA LAV
W IR [0 720
BT, = AT VAR 3 3, 430 10, 290
100A FFBEJH L 7220y
FaKE RIRIE |77 720
P AR VA ZVIN S BV NV 9 510 4, 590
20A FHEA LAV
KK PRI |7 70w
BT, R AT VAR 33 1, 320 43, 560
20A FHEEA L 720
s
6,421,945

R 02 L O R 0 e R




i N =
ZeFH L A E BINER 39
g = itk TH B
4 i 1 S *% it HANT ol & HH fii
RNz EVF-W201
IS CS KBSV 250m3/h 1 24, 700 24, 700
A LA =)
ES T3 SR EVF-W301
IS ©S KAV 250m3/h 1 24, 700 24, 700
FEA LA =)
Az | EVF-W401
IS G KBSV 250m3/h 1 24, 700 24, 700
B LA =)
[EEITEEM AT=F
(€8 3 510 1, 530
L
WER AT FS-WB104 =
LB s KW No.1 3/4 800m3/h 1 16, 800 16, 800
A LA =)
HER A FS-W101
PR R KW No.1 1/2 600m3/h 1 16, 800 16, 800
HEEA L =)
WER AT FS-W102
LB s KW No.1l 1/2 600m3/h 1 16, 800 16, 800
A LA =)
HER A FS-W103
PR R KW No.1 3/4 180m3/h 1 16, 800 16, 800
FEA LA =)
WER AT FS-W301
LB KW No.l 3/4 1200m3/h 1 16, 800 16, 800
B LA =)
HER A FS-W302
PR R KW No.1 3/4 3000m3/h 1 16, 800 16, 800
HEA L =)
WER AT FS-W401
LB s KW No.l 3/4 3000m3/h 1 16, 800 16, 800
A LA =)
HER A FE-WB103
BB R K No.l 1/4 2000m3/h 1 16, 800 16, 800
L
=
WER AT FE-WB104
LB s KW No.l 1/2 800m3/h 1 16, 800 16, 800
A LA =)
HER A FE-W101
BB R KW No.1 1/4 100m3/h 1 16, 700 16, 700
HBEA L =)
WER AT FE-W102
LB s KW No.1l 1/2 600m3/h 1 16, 800 16, 800
EEH LW =)
i N =
ZeFH L A E BINER 40
W= fitkTH Bl
4 i 1 S ¥ it HANT ol & HH fii
WER ) AR] FE-W103
LB s KW No.1 1/2 600m3/h 1 16, 800 16, 800
A LA =)
HER A FE-W104
PR R KW No.1 1/4 200m3/h 1 16, 800 16, 800
HEA L =)
WER AT FE-W201
LB s KW No.1l 1/2 900m3/h 1 16, 800 16, 800
B LA =)
HER A FE-W202
PREEE R KHE No.2 2100m3/h 1 16, 800 16, 800
FEA LA =)
WER AT FE-W203
LB KW No.l 1/2 1700m3/h 1 16, 800 16, 800
A LA =)
HER A FE-W301
PR R KW No.1 3/4 1200m3/h 1 16, 800 16, 800
FEA L =)
WER AT FE-W302
LB s KW No.l 3/4 1700m3/h 1 16, 800 16, 800
A LA =)
HER A FE-W304
PR R KW No.1 1/4 200m3/h 1 14, 100 14, 100
FEA LA =)
WER AT FE-W401
LB s KW No.l 3/4 1700m3/h 2 16, 800 33, 600
A LA =)
HER A FE-W402
PR R KW No.1 3/4 3000m3/h 1 16, 800 16, 800
HEEA L =)
RAT T 7 FE-W105
T 150 ¢ 70m3/h R L 722w 1 2, 390 2, 390
L
=
R (R %GA)  |FS-WB101
[ES PR No.2 5000m3/h 1 14, 600 14, 600
HEA L =)
PEEFE T WGA) - FS-WB102
T K& No.2 4500m3/h 1 14, 600 14, 600
A LA =)
R (R %5A)  |FE-WB101
[LES PR No.2 5000m3/h 1 14, 600 14, 600
HEA L =)
PEJEFE T WGA) - FE-WB102
T K& No.2 4500m3/h 2 14, 600 29, 200
EEH LW =)

i

R 02 L O R 0 e R




ZeFH L A E BINER 41
g = kT PR
4 i 1 S *% s HANT il & HH fii
PEEE (7 WGA) - [FE-W303
(& K& No.2 3000m3/h 1 12, 100 12, 100
A LA 5
e BT
>
PNV Tz b kT A L2
[ S 6 2, 960 17, 760
m
0% JURE WA No.2 LA
To b Bk P LA 21 2, 960 62, 160
[ ES A
% EUE FWGATE No2 LATF
7= Bk T B LA 6 4,620 217, 720
[ES A
Es
637, 560
ZeFH L A E BINER 42
W= kT fa K A
4 i 1 S ¥ s HANT il & HH fii
FaKE /7 2=y b PCW-101  FEH L7gvy
(EAKR#E) 40A X 350L/min X 50m 3. 7TkWX 2 1 32, 400 32, 400
[ ES B o 3t e
fakw V7 azyb PCW-102  FAEH L7auy
(i FH K R ) 50A X 600L/min X 50m 5. 5kW X 2 1 37, 500 37, 500
(e WA=y b, 7=hFp, BiHRGE G 4k #*
AR - e nrUEs MR - {HRT
ZEZAE: L 65A 2 2,980 5, 960
(SGP-VA) #t 2= m
#ak - HEE LA B - {E T
FA=v)" B 80A 8 3, 380 27, 040
(SGP-VA) fifi 22 m
FEY R 1 T A b= - (T
ZEZAE: ke 100A 1 3,490 3,490
(SGP-FVA) fift %= m
S5 i Ak T ik M 654
[ES B L0 2 2,570 5, 140
18
Wi T s’ ML 80A
[ S B LA 3 3,120 9, 360
18
S5 i Ak Bk’ M 100A
[ES P LW 1 3,670 3,670
18
A=) N B7345 (10K (J2n-)  65A —
[ S 2 1, 290 2, 580
18
A=) N B774FR 10K (J2h-)  80A —
(€8 2 1, 560 3,120
18
AR TA iR
KK PRI |7 70
PR EE, FE, A 7V TR0 2 1, 020 2, 040
650 FHEM L 720 m
AR BIRECE ) IR
BEMREE, TR, B TV TAY A 4 1,130 4,520
80A FRMEM LAV m
KK PRI |7 70
PR EE, B, A 7V TR0 1 1, 500 1, 500
100A FFBEJH L 7220y m
s
138, 320

R 02 L O R 0 e R




ZeFH L A E BINER 43
W= fits T LT
4 i 1 S *% it HANT il & HH fii

<1 >

RIEryr9-MERER | LGS T Hi+ T HE U GB-Rt=12. 53

TR t=124 % #91.2X 1. 6m 1 9, 450 9, 450
Mt

Koy - BE [ LGS F Hi+ T I  GB-Rt=12. 53t

TR L=124 % #91.5X 1. 6m 4 9, 450 37, 800
AT

RIFryr)-MEBER | LGS FHi+ T AV GB-Rt=12. 54&

TR t=124 % #91.5X 1. 8n 1 9, 450 9, 450
Mt

KIFny 1 9-MEHEW | LGS T i3

TR L=12Mf % 911X 1. 5m 1 6, 300 6, 300
AT

<oWE>

F Iy - HE [ LGS F Hi+ T I » GB-Rt=12. 53t

TR =124 % #92.7X 2. 8m 1 18, 900 18, 900
AT

RIFryr)-MERER | LGS FHi+ T A% GB-Rt=12. 54&

TR t=124 % 92X 1. Tm 9 9, 450 85, 050
Mt

Ky - HE [ LGS F Hi+ T I © GB-Rt=12. 53t

Fhkt=12M % FEF1 99 0nd 1 18, 900 18, 900
AT

RIFryr)-MERER | LGS FHi+ T A  GB-Rt=12. 54&

TR =121 2= BEFL 917, 5m 1 32, 900 32, 900
Mt

Koy y- L HE [ LGS F Hi+ T I © GB-Rt=12. 53t

TR t=12Mt % % BHERT K94, 9t 1 14, 700 14, 700
AT

RIFryr)-MERER | LGS FHi+ T AL  GB-Rt=12. 54&

TR t=121f 2= BT K912, 3nd 1 23, 500 23, 500
Mt

F Iy - HE [ LGS F Hi+ T I © GB-Rt=12. 53t

TR t=12M % KBFHESE  #3ni 1 9, 450 9, 450
AT

RIEryr9-MERER | LGS T Hi+ T HE U GB-Rt=12. 53

TR t=12ff % #94.4X 2. 5m 1 23, 500 23, 500
Mt

FIACHEE - = [LGS T M3k

8 =1 t=9. 5 91, 5X 1. 6m 1 6, 300 6, 300
AT

ZeFH L A E BINER 44

W= s T LT

4 i 1 S ¥ it HANT il & HH fii

RIFRBRALBERE  [LGS T Hi 3k

[SRER/ TGS #92.5%3. 4m 2 12, 600 25, 200
AT

<3PE>

Koy - HE [ LGS F Hi+ T I © GB-Rt=12. 53t

TR L=124 % #92.7X2.8m 1 18, 900 18, 900
AT

RIFry1)-MERER | LGS FHi+ T A% GB-Rt=12. 54&

TR =121 2= 92X 1. Tm 19 9, 450 179, 550
Mt

Koy - HE [ LGS F Hi+ T I  GB-Rt=12. 53t

Fikt=12M £ FEF1 #98.3nd 1 18, 900 18, 900
AT

RIFryr)-MERER | LGS FHi+ T A GB-Rt=12. 54&

TR =121 2= JBEF1 931 3m 1 61, 900 61, 900
Mt

Ky =L HE [ LGS F Hi+ T I © GB-Rt=12. 53t

TR =124 BT #94. Ik 1 14, 700 14, 700
AT

RIFryr)-MEBER | LGS FHi+ T AL U GB-Rt=12. 54&

TR =121 2= BrEH K93, 2nt 1 9, 450 9, 450
Mt

Koy y-LHE [ LGS F Hi+ T I © GB-Rt=12. 53t

Fikt=12M % 3040 K98, 5t 1 18, 900 18, 900
AT

RIEryr9-MERER | LGS T Hi+ T HE U GB-Rt=12. 53

TR =121 2= #91.6X2m 2 9, 450 18, 900
Mt

FIACHEE - = 5 [LGS T Hit 3k

b =9, 5ftE 914X 2. 5m 1 6, 300 6, 300
AT

<ApE>

Ky - HE [ LGS F Hi+ T I  GB-Rt=12. 53t

TR =124 % #92.6X 2. 9m 1 18, 900 18, 900
AT

RIFryr)-MERER | LGS FHi+ T A  GB-Rt=12. 54&

TR t=124 % 92X 1. Tm 8 9, 450 75, 600
Mt

Koy - HE [ LGS F Hi+ T I © GB-Rt=12. 53t

Fikt=12M % FEF1 #99.3nd 1 18, 900 18, 900
AT

R 02 L O R 0 e R




ZeFH L A E BINER 45
g = itk TH TR
4 i 1 S % it HANT ol & HH fii
KIFny ) y-LREVE [LGS T i+ T HE D GB-Rt=12. 53&
TR t=12M % R A2 1 43, 200 43, 200
AT
RIEryry-MERER | LGS T Hi+ T HE U GB-Rt=12. 53k
TR =121 2= BrEF K97, 3nd 1 18, 900 18, 900
Mt
Ky )= HEW | LGS T Hi+ T i 0 GB-Rt=12. 53t
Fikt=12M % HEDXHEHERR K912, 8nd 1 23, 500 23,500
AT
RHALHE? Vv LGS T 4k
52 HK =} t=9.5/#1. 7X 2m 1 6, 300 6, 300
€S N
s
874, 200
ZeFH L A E BINER 46
W= fitkTH FEAEMOE (thy — &)
4 i 1 S % it HANT ol & HH fii
Ly bl av))=ME /)
T A4 SR 0.1 5, 130 513
m3
EhZbL &E<T
LR 169 740 125, 060
m3
Lh bl WA PR T
T A4 S 4.5 4,540 20, 430
m3
Eh bl BE7 7
F AR 51.3 3,410 174, 933
m3
Lh bl FER -
T A4 S 7.8 2, 960 23, 088
m3
FAM LSy av))-ME CH )
0.1 800 80
t
FAEM LSy E3- R
19.9 0 0
t
FAM LSy A BER< T
4.5 10, 000 45, 000
m3
FAEM Sy BT 7
51.3 16, 000 820, 800
m3
FAM LSy HR -
4.2 15, 000 63, 000
t
s
1,272,904

R 02 R O o 0

i

R




7 3 < =
ZeFH L A E BINER 47
g — 225 AN B2 i
4 i 1 S % it HANT ol & HH fii
WFN T T ACPN-CI01-A ==}
2% SR Fr R A HE F145. OKW 1% 53 fiE /7 50. OkW 1 1, 070, 000 1, 070, 000
L
=
WIN h-v I ACPM-C101-B = 4h Bk
REE P W EHES150. OkW 1 53 HE /7 56. OkW 1 1, 170, 000 1, 170, 000
L
=
WEN 9=y T ACPM-C102 == 41H%
2% SR Fr R S GETE 7156. OKW 1 53 fiE /763, OkW 1 1, 420, 000 1, 420, 000
L
=
WIN h-v I ACPM-C103 =4
REE P W EHES156. 0kW 1 53 HE /763, OkW 1 1, 420, 000 1, 420, 000
L
=
WEN v h=y ACPM-C101-1 = PNEECK-1
22 SRR FIB WTERE 2. 2kW  BEFERE /2. BkW 1 94, 000 94, 000
L
=
WFN =T ACPM-C101-2  SEPNHEFRV (J)
EEE ki WIEHE 8. OkW BB FHE 19, OkW 6 139, 000 834, 000
L
=
WEN v h=y ACPM-C101-3 = PNEECK-1
22 SRR FIB WERE 2. 2kW  BEFERE /2. BkW 1 94, 000 94, 000
L
=
WIN h-v I ACPM-C101-4  SEPNFECK-2
28 SRR WHEHES9. OkW I 5EHE 77 10. OkW 3 134, 000 402, 000
L
=
WEN o h=y ACPM-C101-5 = PNEECK-2
ECE R BIEHE 4. 5kW BREHES15. OkW 4 109, 000 436, 000
L
=
WIN 9 h-v I ACPM-C102-1  ZEPNFECK-2
REE P WEEHES 14, OkW 1 5EHE /) 16. OkW 2 171, 000 342, 000
L
=
UWEN o h=y ACPM-C102-2 = PNEECK-2
ECE R BIEHE 5. 6kW  BREHEJ16. 3kW 2 114, 000 228, 000
L
=
WIN 9 h-v I ACPM-C102-3  ZEPNHECK-2
EEE ki WIEHE 2. 8kW  EFEHE SIS, 2kW 3 103, 000 309, 000
L
=
UWEN h=y ACPM-C102-4 = PNEECK-2
ECE R BIERE 2. 8kW  BREHES13. 2kW 2 103, 000 206, 000
L
=
WIN 9 h-v I ACPM-C102-5 = PNFECK-2
28 SRR WIEHE 2. 8kW  EFEHE SIS, 2kW 2 103, 000 206, 000
L
=
WEN v h=y ACPM-C103-1 = PNEECK-2
ECE P WIEHES9. OkW  [Z 5 HE /7 10. OkW 2 134, 000 268, 000
L
[=}
= < =
ZeFH L A E BINER 48
R 22 S i R
4 i 1 S % it HANT ol & HH fii
FN T ACPM-C103-2 = PNEECK-2
ECE P BIERES3. 6kW  BBEHE 1 4. OkW 2 108, 000 216, 000
L
=
WIN h-v I ACPM-C103-3  ZEPNHECK-2
2SR R MFEHE 4. 5N WEFEHEA15. 0kW 1 109, 000 109, 000
L
=
UWEN o h=y ACPM-C103-4 = PNEECK-2
ECE R BIEHE 4. 5kW BBEHEJ15. OkW 3 109, 000 327, 000
L
=
WIN o h-v I ACPM-C103-5 = PNHECK-2
2SR R MR 4. 5N WE FEHEJ15. 0kW 3 109, 000 327,000
L
=
Noh=v I ACP-C101-A =PI
2SR Frp B GEHEF145. OKW 1% 53 fiE /7 50. OkW 1 2, 800, 000 2, 800, 000
= P I 3CFRV (D) il
Noh-v ACP-C101-B =N IE
REE P W EHES145. OkW 1 53 HE /750, OkW 1 2, 800, 000 2, 800, 000
ZE NI 3CFRV (D) il
Noh=v ACP-C102-A PN I
2SR Frp B EHEF145. OKW 1 53 fiE /7 50. OkW 1 3, 000, 000 3, 000, 000
= P I 3CFRV (D) il
NV ACP-C102-B =N IE
REE P W EHES145. OkW 1 53 HE /7 50. OkW 1 3, 000, 000 3, 000, 000
ZE NI 3CFRV (D) il
Noh=v ACP-C103 = NSME It
ECE P BERENT. 1N BBEHESS. OkW 1 341, 000 341, 000
HENHEIECIS A
Noh-v ACP-C104 =N
EEE ki WEHE 4. 5kW BB FEHEJ)5. OkW 1 290, 000 290, 000
NI UCK-4 il
Noh=v ACP-C105 =ENAME I
2SR Fr R VB GETE 7156. OKW 1 53 fiE 17 53. OkW 1 3, 460, 000 3, 460, 000
= P I 3CFRV (D) il
B 22 AT=F
10 12, 100 121, 000
18
SR ) £y
2 56, 500 113, 000
&
B SURC A R BIHE 00-0005
1 266, 310
; =X
25, 669, 310

R 02 L O R 0 e R




ZE T8l E BINER

) — 225 RN A &7 bkl
4 i 1 Ed %% s HAL ol & HH fii
[ L7777 LEF Jh
st Lo @I 0. 6mm (451~750mm) 8 , 10, 700 85, 600
m
Tp-pTUN - MD750X 450 L200
1 54, 500 54, 500
18
[ AN MD1000 X 450  L.200
1 61, 100 61, 100
18
p-pT N - MD1000X 800 1200
1 82, 800 82, 800
18
[ AN MD500 X 650  1.200
1 42, 300 42, 300
18
p-p N - MD600X 750  L200
1 49, 900 49, 900
18
PV T b Ak F
9 15, 800 142, 200
m
Fryn = (IKJEM) | 0. 8mm (751~ 1500mm)
sk Lo FEE 16 11, 100 177, 600
m
B 2NN S IPAVYUR I Y E S
(i 1 L ft) TN FA R 8 7,490 59, 920
iR JE25 nf
Es
755, 920
ZeFR T HIE BINER
) — 225 RN A Hi i i di
4 i 1 Ed %% s HAL ol & HH fii
PEAK - mEE ) RN % 30A
vy v 38 3,410 129, 580
(Vp) et m
PRk - BEELR ) BEME - (T 30A
e =i 3 4, 090 12, 270
(VP) st m
I 6.355M% (1 1/4B) K&
Wk SR | R 10mmid 29 3, 090 89, 610
e m
W 9.5240M% ( 3/8B) WA
TS AR | R 10mmEd 25 4, 180 104, 500
e m
I 12.7 MR 1/2B) iRE
Wk B SR | R 10mmid 22 5,110 112, 420
e m
WA 15. 88415 (- 5/8B) K&
TS AR | 10mmEd 30 6, 780 203, 400
e m
I 22.2260% (1 7/8B) iKE
Wk B SR | R 10mmid 1 11, 700 11, 700
e m
I 12.7 S 1/2B) 0 25E
TS RS | R 20mmE 29 7,220 209, 380
e m
I 15. 8840 % ( 5/8B) h A%
Wk B SR | /R 20mmid 20 9, 140 182, 800
e m
I 19. 054425 (- 3/4B) ™ 2%%
TS RS R 20mmEd 12 10, 800 129, 600
g m
I 25.4 4 (1 B) A%
Wk B SR | /R 20mmid 15 16, 000 240, 000
e m
I 31. 7550 (1 1/4B) A&
TS AR R 20mmEd 14 21, 900 306, 600
e m
I 38. 10488 (1 1/2B) # A&
Wk SR | /R 20mmid 16 29, 000 464, 000
e m
[ R LA PR - (T
A=) SR 20A 7 6,210 43, 470
(SGP-VA) el m
B 40A
3 44, 100 132, 300
{8

R 02 L O R 0 e R




ZeFR T HIE BINER 51
) — 28 R AR Hi i i di
4 i i} Ed %% s HAL ol & i fii
IR T
PR R 77T A=l
KR, N AT VTN TR G2 R 38 2, 180 82, 840
32A m
PEAKE R AV
B, EHE, AR TV 7270 3 2, 420 7, 260
32A m
R R 7T I A=W
JRANTE I, W PRV =0 AT SR R AR 2 13, 400 26, 800
100A m
Fa K R AV
B, EHE, AR TV 7270 7 2, 150 15, 050
20A m
Es
2, 503, 580
ZeFR T HIE BINER 52
) — 28 R AT N
4 i i} Ed %% s HAL ol & i fii
V2SS
8 700 5, 600
ni
Es
5, 600
778 25 WL Rk SR 0 e R




=] < =
ST A ERINER
Ry —
4 i 1 S it HANT ol HH
RNz EVF-C101
A1 A ey b 150m3/ h 147, 000 147, 000
L
=
RS azy b EVF-C201
Bk #tybME 100m3/ h 79, 200 79, 200
L
=
A2z | EVF-C202
A1 A KAFE<WIE 400m3/ h 252, 000 252, 000
L
=
RS azy b EVF-C401
fiiesi7 KAV 300m3/ h 237, 000 237, 000
L
=
HER /AR | FS-C101
1 KpK No.l 1/2 400m3/h 126, 000 126, 000
L
=
HER A FE-C101
% HiEE No.3 21000m3/h 1, 140, 000 1, 140, 000
L
=
WER AT FE-C102
% VR K{BK No.l 1/4  400m3/h 123, 000 123, 000
L
=
HER A FE-C103
R KW No.1 3/4 2500m3/h 204, 000 204, 000
L
=
WER AT FE-C201
% VR K{BK No.l 1/4 500m3/h 123, 000 369, 000
L
=
HER A FE-C401
P KW No.1 1/4 500m3/h 123, 000 246, 000
L
=
[ERITE=M ES WS BRIV
AT=b EAH R 20, 300 81, 200
&
BERRECARISL L+ | EM-CEE2" —5C
Hufk 2, 740 21, 920
] APt
<AL TG Y — o /22 KR TRk g
HEMERICE T
YN FE-C101
(B ERERR <) 44, 800 44, 800
=
s
3,071, 120
=] < =
ZEFH L B BIPER
Ry —
4 i 1 S it HANT ol HH
BNV 2 D 2k T
15, 800 110, 600
m
0% JIURE WA No.2 LA
Teb Bk 17, 200 137, 600
A
% EUEE FWGATE No3 LA
7= b BT 38, 100 38, 100
A
=8 =PRI O | (VHS, VS, VH, V) 0. 04nfLLF
WAk L - PR 10, 800 10, 800
18
s
297, 100

R 02 L O R 0 e R

i




ZeFH L A E BINER 55
g — W KR A7) T —idi
4 i 1 *% it HANT il & HH fii
EZEESD HUGA - PRSURL
WAL - FEHES 27 8,670 234, 090
&
FEDS ABCKYR 1074
V44 )it 17 10, 400 176, 800
&
it
410, 890
ZeFH L A E BINER 56
g — R L W /757
4 i 1 ¥ it HANT il & HH fii
<1FE>
EM-CE5. 5° -4C oL - FES
13 8, 830 114, 790
Mt
<2WE>
EM-CE5. 5° -4C sk Lo FES
14 8, 830 123, 620
Mt
EM-CE5. 5" -4C  |H4h L - SR ER
2 2,200 4, 400
AT
< 3>
EM-CE5.5" -4C  [HSh L - FHU
25 8, 830 220, 750
AT
EM-CE5. 5° -4C 4L - iR
1 2,200 2,200
Mt
< 4>
EM-CE5. 5° -4C oL - FES
14 8, 830 123, 620
Mt
EM-CE5. 5" -4C  |H4h L - SRALER
1 2,200 2,200
i} AT
591, 580

R 02 L O R 0 e R




= 4 =
ZeFH L A E BINER 57
g — T ik
4 i 1 S % it HANT ol & HH fii
EP% 0 KH HIHE -
#92.6X 4. 6m 1 157, 000 157, 000
AT
EPR Y K Ao HF -V
#93.6X2. Im 1 108, 000 108, 000
Mt
EP# 1 KA vy )-MEBERE B
#922. 3nt 1 270, 000 270, 000
AT
EP D KA wy)y-mEBE & AR
#91.7X2. Tn 2 54, 000 108, 000
Mt
EP# 1 KA vy )-MEBERE B
#92.0X 2. Om 1 45, 000 45, 000
AT
EP KA wy )= BE & A
#92.2X 1. 5m 2 45, 000 90, 000
Mt
s
778, 000
= 4 =
ZeFH L A E BINER 58
g — T RE
4 i 1 S % it HANT ol & HH fii
<1FE>
RIEryr9-MERER | LGS T Hi+ T HE U GB-Rt=12. 53
T t=12 FITX 1. 9m 1 40, 900 40, 900
Mt
Ky - HEW | LGS T Hi+ T i  GB-Rt=12. 53t
Fhkt=12 I3X 1. 4m 1 44, 200 44, 200
AT
K LGS F i+ F 5 V) GB-Rt=12. 53k
HoZ HR - #92.7X 4. 6m 1 46, 900 46, 900
t=12.5 EP-1 NI
KIF AuwE LGS T b 4
HoZ IR - #92.4%2. 2m 1 28, 000 28, 000
t=9.5 AT
Kt LGS T Hf
HoZ HR - %93.6X2. 1m 1 30, 100 30, 100
t=12.5 EP-1 NI
KIFsMA TR AR A
450X 450 3 15, 400 46, 200
AT
KA THBE 05 19 1, 000 X 500mm i
1 7, 560 7, 560
Mt
T T HuB A AR | 197 150 X 150mm e i
1 1,510 1,510
AT
KA T HBE 0458 19/ 610X 560mm AR £
1 6, 550 6, 550
Mt
<2WE>
KAy 9-MEBENR | R E R H T Hi+ T Y GB-Rt=12. 53k
Tt t=12 #91.4X 1. 5m 2 147, 000 294, 000
Mt
RIFro)-AEREWL | 45 E R T Hi+ RIS Y GB-Rt=12. 53k
B t=12 1. 7X2.3m 3 147, 000 441, 000
AT
KAy 9-MEBENR | R E K H T Hi+ B Y GB-Rt=12. 53k
Tt t=12 ok’ -1 %916. 5ni 1 504, 000 504, 000
Mt
Ry y-mEHEN | 5 E KT Hi @ 2253k
T OEREt=9 | An-772 922, 3nf 1 648, 000 648, 000
AT

R 02 L O R 0 e R

i




ZEEH TH MR BIMER 59
R — v AT P EE
4 i 1 S *% it HANT ol & HH fii
Ky )y-EHEN | 5 E K I T Hi @ 2253k
TR OEREt=9 1. 7X2. Tm 2 177, 000 354, 000
LN
KIEny 1 -MEBENR | F5 72 R T H@ 2253k
LR OEAEt=9 | K2X2m 1 147, 000 147, 000
AT
K Ity y-mLBEVL LGS T Hi+ T HE 0 GB-Rt=12. 53k
Fhkt=12 #92.2X 1. 5m 2 40, 900 81, 800
LN
E T TR AL O
450 X 450 3 15, 400 46, 200
AT
KIFsMA AL NS RE H O
600X 600 21 23, 100 485, 100
LN
KIEFHOBE DA | F5 2 R THE 1, 650 X 700mm e &
3 11, 800 35, 400
AT
RIE T HBH OAf58 | 5 E RIE T HE 1, 300X 700mmFR £
4 10, 000 40, 000
LN
KA T HUB 0458 19/ 900 X 650mm AR &
1 7,810 7,810
AT
KIF T HiBH AR | 1972 610 X 560mm 2 £
1 6, 550 6, 550
LN
<3PE>
K Ity y-mLBEVL LGS T M1+ T HE 0 GB-Rt=12. 53k
Fhkt=12 1. 7X2.2m 3 40, 900 122, 700
LN
RIEryr9-MERER | LGS T Hi+ T HE VU GB-Rt=12. 53
Hht=12 uE— #17nf 1 59, 100 59, 100
AT
K Ity y-mLBEVL LGS T Hi+ T HE 0 GB-Rt=12. 53k
=12 917X 2m 5 40, 900 204, 500
LN
RIEryr9-MERER | LGS T Hi+ T HE U GB-Rt=12. 53
Hhit=12 917X 1. 7m 1 40, 900 40, 900
AT
KIFsMA TR AR A
450X 450 6 15, 400 92, 400
DAL
ZeFH L A E BINER 60
g — T RE
4 i 1 S ¥ it HANT ol & HH fii
AT HBH D AR [ 199 1, 200 X 650mm i JiE
4 9, 320 37, 280
LN
KA THBE 05 19 1, 000 X 650mm i
7 8,310 58, 170
AT
< 4>
RIFry)-MEBER | LGS T Hi+ T A%  GB-Rt=12. 54&
T t=12 915X 1. 4m 1 40, 900 40, 900
AT
Ky - HEW | LGS T Hi+ T i 0 GB-Rt=12. 53t
Fhkt=12 #93.2X2. 2m 1 47, 600 47, 600
LN
RIFryr)-MEBER | LGS FHi+ T A%  GB-Rt=12. 54&
Hhit=12 91.7X2.2m 1 40, 900 40, 900
AT
Ky - HEW | LGS T Hi+ T i 0 GB-Rt=12. 53t
FHt=12 oE— 338 1 231, 000 231, 000
LN
RIFryr)-MEBER | LGS FHi+ T A%  GB-Rt=12. 54&
T t=12 914X 1. Tm 1 40, 900 40, 900
AT
Ky - HEW | LGS T Hi+ T i  GB-Rt=12. 53t
Hht=12 #91.7X2m 3 40, 900 122, 700
LN
RIEryry-MERER | LGS T Hi+ T HE U GB-Rt=12. 53
R =12 917X 4. 1m 2 47, 600 95, 200
AT
KIFsMA AL NS RE H O
450X 450 15 15, 400 231, 000
LN
KA THUBE 05 19 1, 200 X 650mm i [
4 9,320 37, 280
AT
AT HiBH A AR |19 1, 000 X 650mm i JEE
7 8,310 58, 170
LN
s
4,903, 480

R 02 L O R 0 e R




ZE T8l E BINER

gy — itk TH 2255 N A
4 i 1 S *% s HANT ol & HH fii

<FBasiE >

WIN h-v I ACPM-C101-A  ZE4b B

ECE P W HEJ145. 0kW 1 58, 700 58, 700

(6 FEA LA =)

WEN I T ACPM-C101-B == 4

ECE R %5 fiE 7150. 0kW 1 65, 000 65, 000

[ES B LA =)

WIN h-v I ACPM-C102 =4

ECE P % B HE 1156. 0kW 1 72, 600 72, 600

(6 HBEA L =)

WEN r= T ACPM-C103 == 4} H%

22 SRR %5 fiE 1156. 0kW 1 72, 000 72, 000

[ES A LA =)

WIN 9 h-v I ACPM-C101-1  =EPNFECK-1

ECE P WEHE 2. 2kW 1 4, 060 4, 060

(6 HEEA L =)

N -y T ACPM-C101-2 =2 PYEEFRV (])

22 SRR WIEHE 8. OkW 6 4,150 24, 900

[ES A LA =)

WIN h-v I ACPM-C101-3  =EPNHECK-1

ECE P WEHE 2. 2kW 1 4, 060 4, 060

(6 FEA LA =)

WEN o h=y ACPM-C101-4 = PNEECK-2

ECE R WIEHES9. OkW 3 8, 020 24, 060

[ES B LA =)

WIN 9 h-v I ACPM-C101-5  ZEPNFECK-2

ECE P W EHE 4. 5kW 4 5, 140 20, 560

(6 HEA L =)

UWEN o h=y ACPM-C102-1 = PNEECK-2

22 SRR BB HES]14. 0kW 2 8, 120 16, 240

[ ES A LA =)

WIN 9 h-v I ACPM-C102-2  ZEPNHECK-2

ECE P W EHE 15, 6kW 2 5, 240 10, 480

(6 FEA LA =)

UWEN h=y ACPM-C102-3 = PNEECK-2

22 SRR WIEHE 2. 8kW 3 4, 060 12, 180

[ES A LA =)

WIN 9 h-v I ACPM-C102-4  ZEPNHECK-2

ECE P WEHE 2. 8kW 2 4, 060 8, 120

(6 HBEA L =)

WEN v h=y ACPM-C102-5 = PNEECK-2

22 SRR WIEHE 2. 8kW 2 4, 060 8, 120

[ ES EEH LW =)

ZEHILEHIEBIPER

g — kT 225 N E A

4 i 1 S ¥ s HANT ol & HH fii

FN T ACPM-C103-1 = PNEECK-2

22 SRR WIEHES9. OkW 2 8, 020 16, 040

[ES A LA =)

WIN h-v I ACPM-C103-2  ZEPNHECK-2

ECE P WEHE 3. 6kW 2 5, 050 10, 100

(6 HEA L =)

UWEN o h=y ACPM-C103-3 = PNEECK-2

22 SRR WIEHE 4. 5kW 1 5, 140 5, 140

[ES B LA =)

WIN o h-v I ACPM-C103-4  ZEPNFECK-2

ECE P W EHE 4. 5kW 3 5, 140 15, 420

(6 FEA LA =)

WEN o h=y ACPM-C103-5 = PNEECK-2

22 SRR WIEHE 4. 5kW 3 5, 140 15, 420

[ ES A LA =)

Noh-v ACP-C101-A =N

RCE P A TEHE 145, OKW 22 UK KRV (D) 1 84, 700 84, 700

KEETE  #E EEA L2 A

Noh=v ACP-C101-B == P43t

ECE N p W EHE 7145, OKW =2 PHE I 3CFRV (D) 1 84, 700 84, 700

KR #E  EEA LR A

NV ACP-C102-A =N

RCE P A TEHE 145, OKW 22 UK I KRV (D) 1 84, 700 84, 700

KEETE  #E EEA L2 A

Noh=v ACP-C102-B == PNk 3t

RS p W FEHE 7145, OW =2 PH I 3CFRV (D) 1 84, 700 84, 700

KSR #E EEA LR A

Noh-v ACP-C103 =N IL

ECE P BERE 15, 6kW NI ECTS 1 12, 800 12, 800

(e FEEA L A

Noh=v ACP-C104 ==&

22 SRR BERE 4. 5kW B NFETE CK-4 1 11, 200 11, 200

[ES A LA A

NV ACP-C105 =N IL

RCE P A EHE 7156, OKW 22 PUA I 3CFRV (D) 1 104, 000 104, 000

KEBIE ik EEREL mER LAV A

A5k 3y %13

[ S BER L 4 3, 760 15, 040
L
=

[EEITEEM IAT=h

[LES P LA 10 510 5, 100
18l

) eay B L0

[ S 4 510 2, 040
{8

i

R 02 L O R 0 e R



ZeFR T HIE BINER
g — itk TH it
4 i 1 S % i ol HH
CESEE RO
5>
GEBAE R & D 16 FAEH L
B 6 190 1, 140
(PP . CD&) fh 2=
EM-CEE-S¥—=7"»  |EM-CEE-S 1.25° -2C(FEPIN)
[ S BER L 6 85 510
EM-CEE-Sy—7" % |EM-CEE-S 1.25° —2C (%)
[ES P LA 100 76 7, 600
<> I EMITIE Y — o /22 KR TRk g
HmEMERICE T
fif 7 ACPM-C101-A, C101-B, €102, C103
ACP-C101-A, C101-B, C102-A, 9 50, 500 454, 500
€102-B, €105 ‘
R & P
ACP-C101-A, C101-B, C102-A, 5 50, 500 252, 500
€102-B, €105 &
et A ENE
ACP-C101-A, C101-B, C102-A, 4 20, 200 80, 800
C102-B =)
R ETL
ACP-C105 1 30, 300 30, 300
L
=
<HF7h>
=) N = 0.4mi L F
[ S BER L 2 4,190 8, 380
[ AN 0.5m L T
[LES P L0 2 4, 360 8,720
=) = 0.8mLLF
[ S BER L 1 5,670 5,670
POVA D AMET | B L
(€S 9 2, 960 26, 640
<Pl E >
ZeFR T HIE BINER
gy — fitkTH 2255 N A
4 i 1 S % i ol HH
K« W RN % 30A -
e =i 40 630 25, 200
[ ES
Pk - BT FEbR=E - T 30A -
ke =g 3 760 2, 280
(e
WL - P 6. 4R ( 1/4B) -
[ S 37 310 11, 470
R - PR 9.5%ME( 3/8B) -
(€S 46 460 21, 160
W - WemE (12, TAME( 1/2B) -
[ S 56 590 33, 040
W - PR 19, 1M ( 3/4B) —
(€8 27 860 23, 220
WL - P (25 4501 B) -
i 33 1, 150 37,950
W - PR 31,85 (1 1/4B) —
(€8 14 1, 450 20, 300
B - WA 38 14ME (L 1/2B) -
it 25 1, 690 42, 250
KK - HEE RUHES  BEWE - (80T 20A
REZAE: k3 P LA 7 1, 090 7,630
(SGP-VA) e
BT Y 40A
[ S BER L 3 1, 190 3, 570
ARETEFE
PR BREE ) -
KHAWN, N AT V47 bN TRIET TSR 40 580 23, 200
324 FEA LRV
WIS BRI [0 720
SR, W E AT VAR 2 3, 430 6, 860
100A FAEH L Zguy
AR BIRECE ) I
BEMREE, TR, B TV TAY A 7 720 5, 040
200 FEEALZR W

R 02 L O R 0 e R




7 3 < =
ZeFH L A E BINER 65
g — itk TH 22 R AN
4 i 1 S *% it HANT ol & HH fii
B
2,092, 110
7 3 < =
ZeFH L A E BINER 66
g — fitkTH PR
4 i 1 S ¥ it HANT ol & HH fii
RNz EVF-C101
A1 A v ME 150m3/h 1 12, 300 12, 300
[ES A LA =)
RS azy b EVF-C201
Bk #tyME 100m3/h 1 10, 000 10, 000
(6 FEM LA =)
Az EVF-C202
A KAFESNIE 400m3/h 1 14, 200 14, 200
[ES B LA =)
A Hazy b EVF-C401
fifasi7 KAV 300m3/h 1 12, 300 12, 300
(6 FEM LA =)
WER AT FS-C101
B i KpK No.l 1/2 400m3/h 1 16, 800 16, 800
A LA =)
R (R %5A)  |FE-C101
R 23k RER No.3 21000m3/h 1 21, 300 21, 300
(6 FEM LA =)
WER AT FE-C102
B i K{BK No.l 1/4  400m3/h 1 16, 800 16, 800
A LA =)
HER A FE-C103
PR R KW No.1 3/4 2500m3/h 1 16, 800 16, 800
FEM LA =)
WER AT FE-C201
B i K{BK No.l 1/4 500m3/h 3 16, 800 50, 400
A LA =)
HER A FE-C401
PR R KW No.1 1/4 500m3/h 2 16, 800 33, 600
FEM LA =)
TR R PH-101-B
[ S PRE & 0. 25kW 1 5, 740 5, 740
A LA =)
o U PH-102
[ES PR & 0. 50kW 16 6, 730 107, 680
FEM LA =)
TR R PH-101-A, 103
[ S K& & 0. 75kW 3 6, 730 20, 190
B LA =)
[EEITEEM IAT=F
(€8 4 510 2, 040
18l
<> HEBITIE Y — o /22 KR TRk g
HEMERICE T

R 02 L O R 0 e R




i N =
ZeFH L A E BINER 67
g — itk TH PR
4 i 1 S % it HANT ol & HH fii

7 FE-C101
(B EMERR <) 1 40, 400 40, 400
[Ci€52D) =)
<HF7 k>
PNV Tz b kT A L2
i 6.8 2,960 20, 128

m
0% JURE WA No.2 LA
To b Bk P LA 8 2, 960 23, 680
(e A

Hi
424, 358
ZeFH L A E BINER 68
ey — fitkTH TR
4 i 1 S % it HANT ol & HH fii

<1FE>
KIEny79-MEHE | LGS T Hi+ T Ak » GB-Rt=12. 53k
T t=12 FITX 1. 9m 1 9, 450 9, 450
(e Mt
Ky - HE [ LGS F Hi+ T I © GB-Rt=12. 53t
Fht=12 I3X 1. 4m 1 14, 700 14, 700
fit 2z ST}
KIE - Z 9K - LGS FHi+ F AL Y GB-Rt=12. 53k
Tt=12.5 EP-1 | #92.7X4.6m 1 23, 500 23, 500
(6 Mt
KIbpiE > Z 5 LGS ik
-} 1=9.5 #92.4X 2. 2m 1 6, 300 6, 300
fit 2z ST}
KIAL¥EE - Z 5 LGS T Hh
K =}"1=9.5 %93.6X2. 1m 1 12, 600 12, 600
(6 Mt
< ok >
KAy 9-MEBENR | R E R H T Hi+ T Y GB-Rt=12. 53k
T t=12 #I1.4X 1. 5m 2 9, 450 18, 900
(6 Mt
RIFro)-AEREWL | 45 E R T Hi+ RIS Y GB-Rt=12. 53k
Fhkt=12 1. 7X2.3m 3 9, 450 28, 350
[ES AT
KAy 9-MEBENR | R E R H T Hi+ B Y GB-Rt=12. 53k
T t=12 ok’ -1 %916.5ni 1 29, 400 29, 400
(e Mt
Ry y-mEHEW | 5 E K I T Hi @ 2253k
TR OERGt=9 | xe-772  #922.3nf 1 47, 200 47, 200
[ES AT
KA1 9-MEBER | R E K H T H @ 2253
TR OEAEt=9  #I1.7X2.Tm 2 14, 700 29, 400
fit 2FF
RIFvy)y-mEHER | 5 E KT Hi @ 2253k
B ERt=9 12X 2m 1 9, 450 9, 450
[ ES AT
KFEnyr9-MEHE | LGS T Hi+ T Ak » GB-Rt=12. 53k
E =12 #92.2X 1. 5m 2 9, 450 18, 900
(6 Mt
< 3>

R 02 L O R 0 e R




ZeFH L A E BINER 69
g — itk TH TR
4 i 1 S *% it HANT il & HH fii

KIFny s y-LBEVE [LGS T i+ T HE D GB-Rt=12. 53&

Ft=12 I1.7X2.2m 9, 450 28, 350

[ES AT

RIEryr9-MERER | LGS T Hi+ T HE U GB-Rt=12. 53

Tt t=12 vE— 170 32, 900 32, 900

fit Mt

K Ity y-mLBEVL LGS T Hi+ T HE 0 GB-Rt=12. 53k

Fht=12 1. 7x2m 9, 450 47, 250

[ES AT

RIFryr)-MEBER | LGS FHi+ T A%  GB-Rt=12. 54&

E =12 917X 1. Tm 9, 450 9, 450

€ 2FF

< 4>

RIFryr)-MEBER | LGS FHi+ T A% GB-Rt=12. 54&

R =12 #1.5X 1. 4m 9, 450 9, 450
Nzl

K Ity y-mLBEVL LGS T Hi+ T HE 0 GB-Rt=12. 53k

Ft=12 #93.2X2.2m 18, 900 18, 900
;N

RIFryr)-MEBER | LGS FHi+ T AV GB-Rt=12. 54&

R =12 #91.7%2.2m 9, 450 9, 450
Nzl

K Ity y-mLBEVL LGS T M1+ T HE 0 GB-Rt=12. 53k

FHt=12 oE— 338 63, 400 63, 400
DFI

RIFryr)-MEBER | LGS FHi+ T A GB-Rt=12. 54&

R =12 914X 1. Tm 9, 450 9, 450
Nzl

K Ity y-mLBEVL LGS T M1+ T HE 0 GB-Rt=12. 53k

Fht=12 91.7X2m 9, 450 28, 350
;N

RIEryr9-IMERER | LGS T Hi+ T HE U GB-Rt=12. 53

T =12 917X 4. Im 18, 900 37, 800
Nzl

Hi
542, 900

R 02 L O R 0 e R




22 T2 BRI

g = 225 AN B 25w
4 i 1 S ¥ it HANT Ho il & #H i =
UL R B 00-0001
1 1, 626, 130
Y
JE TR AR e A 220m
(@] 23 2,700 62, 100
m
BREHIERI AT & 5 (B y « HEARECAS 16mm
EARE (PFHEE) 106 720 76, 320
m
CRRAREAT S S | 1Tom U =M - K
B (BB 54 1, 820 98, 280
Bt Mt
7" W ) ASSH 200X 200X 100
Bk 2 12, 700 25, 400
(AR - %) &
77 W ) ASSTE 200X 200X 200
Bk 1 18, 100 18, 100
(AR © &) 18
EM-CEE-S/—7" % | 1. 25mm2- 2C
ek x 387 720 278, 640
m
EM-CEE-S/—7 % | 1. 25mm2— 2C
FEPP (PF+CD) 106 780 82, 680
m
EM-CEE-S/—7" % | 1. 25mm2- 2C
BN 23 830 19, 090
m
EM-CEE-S/—7 % | 1. 25mm2— 2C
797 128 950 121, 600
m
BERR LA EM-CEES1. 25" —2C
sk Lo B 308 2, 740 843, 920
AT
Es
1, 626, 130

22 T2 BRI

W= 225 AN B 25 i
4 i 1 S ¥ it HANT Bl & HH i =
YN )T -y R O BIHE 00-0002
1 2, 550, 240
Y
N ACPM-W401, ACPM-W402, ACPN-W403, AC
PM-W404, ACPM-W405, ACPM-W406 6 22, 400 134, 400
L
=
N ACPMA-W101-A,
ACPM-W101, W202, W301-B 4 33, 600 134, 400
L
=
YN ACPMA-W101-B, W102-A, W102-B,
ACPM-W201 4 56, 000 224, 000
L
=
YN ACPG-W201,
ACP-W301, W401-1, W401-2, W401-3, 6 9, 490 56, 940
W401-4 &
[N ACPM-W301-A
1 37, 500 37, 500
=
[N ACPM-C101-A,
ACP-C101-A, C101-B, C102-A, C102-B 5 33, 600 168, 000
L
=
[N ZENHEACP-C101-A, C101-B, C102-A,
€102-B, €105 5 33, 600 168, 000
L
=
[N ACPM-C102, C103
2 56, 000 112, 000
=)
YN ACPM-C101-B, ACP-C105
2 37, 500 75, 000
=
[P R TN FIFV=/I=v80t A~ V=R A
A - 4 H X 2 1 1, 440, 000
} WMATRFAIHEE, deigdk Y
G
2, 550, 240

R 02 L O R 0 e R




ZeFR LE BIREET 72
-
4 i 1 Ed i HANT il #H i =
TR 9% HIFE 00-0003
1 647, 870
Y
PR RIE 77T A=
KN, N AT Y47 M TV AR 149 2, 180 324, 820
32A m
PEAKE R AV
FepER, L, B TV I MEREIE R 15 1, 790 26, 850
32A m
PR TRIE 77T A=l
KN, N AT Y47 N TV AR 2 2,330 4, 660
40A m
WIEE R )7 IRl
BB, IRE ATV VAR 3 16, 100 48, 300
100A m
I 6. 35~38. 10mmFE & VARLT VG
T A o 7 6 8 4,900 39, 200
PRIE A2 m
Fa K R A
KA, N AT V47N TRIET TR 9 1, 870 16, 830
20A m
PRIRAEHE -2 R 4500
s Lo FERAeT 17 4, 850 82, 450
m
TRIRACHE 2 HEB 6000
st Lo ERIAE 18 5, 820 104, 760
m
Es
647, 870
ZeFR LE BIREET 73
-
4 i 1 Ed i HANT il HH i =
T = SN LA B 00-0004
1 28,516
Y
Re (A1)
0.3 11, 500 3, 450
m3
ORI Hh ¥ AT vTY
0.1 7,820 782
m3
EZIR HEay NITHTRR
0.3 45, 500 13, 650
m3
37 D10
10 320 3, 200
kg
AR N T NS L
0.3 6, 780 2,034
m3
i — i H
0.3 . 12, 600 3, 780
m
Ka)-hEH L [T EH UL RS
b 1.8 900 1, 620
ni
it
28,516
TS UL IR s ok




ZeFR LE BIREET 74
g — 225 AN B 25w
4 i 1 ¥ it HANT Ho il & #H i =
UL R B 00-0005
1 266, 310
Y
R TR FESuy - HHABLE 19mm
(©) 11 1, 440 15, 840
m
EM-CEE-S/—7" % | 1. 25mm2- 2C
BN 11 830 9, 130
m
EM-CEE-S/—7" ) | 1. 25mm2— 2C
ok x 65 720 46, 800
m
BERR AL EM-CEES1. 25" —2C
sk Lo B 69 2, 740 189, 060
AT
B A B EM-CEES1. 25" —2CX2
st Lo Bt 1 5, 480 5, 480
. Mt
266, 310
708 I R U S e R R




